Motor and Gearbox Assembly

Left Side Shown

""-‘.:2:-._

Y

J

Motor Brush Cap
shown for ref. on



Motor and Gearbox Assembly

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1099727-NLA | NLA - Gearbox - Right 1 1
1 1099726-NLA | NLA - Gearbox - Left 1 1
2 1099728-NLA | NLA - Hardware, Gearbox Mounting 8 8
Includes:

8 ea. Washer, Spring (M8 x 13)

8 ea. Screw, Socket Head (M8 x 1.25 x 20)
3 1099733-NLA | NLA - Switch Assembly with Hardware Includes: 1 1 1

ea. Switch, 1 ea. Paper, Switch, 2 ea. Washer (2.2 x
5x0.5), 2 ea.Washer, Spring (2.1 x 4.3 x0.7)

2 ea Nut (M2 x 0.4 x 6)
4 1099732-NLA | NLA - Handle, Free Wheel, Right 1 1
4 1099731-NLA | NLA - Handle, Free Wheel, Left 1 1
5 1099730-NLA | NLA - Brake, Motor with Axle 1 1
6 1099725-NLA | NLA - Package, Hardware, Motor/ Gearbox 1 1

Includes:

1 ea. Plate, Motor Cable Tie Down

4 ea. Screw, Socket Head (M8 x 1.25 x 20)

1 ea. Plate, Bushing

1 ea. Bushing

1 ea. Driving Axle, Disc Brake with Set Screw
7 1099741-NLA | NLA - Motor/ Brake Assembly - Right 1 1
7 1099729-NLA | NLA - Motor/ Brake Assembly - Left 1 1
8 1099735-NLA | NLA - Motor/ Gearbox Assembly, Right 1 1
8 1099734-NLA | NLA - Motor/ Gearbox Assembly, Left 1 1
9 1099736-NLA | NLA - Brush, Motor (Pair) 2 2




